DAV MODEL SCHOOL KSTP ASANSOL
HOLIDAY HOMEWORK 1 ( Session 2024- 25)

CLASS — VI
Name: Class: Roll No:

1. Read the comprehension and tick the correct answers:-

There are houses all over the world. Some houses are large. Some are small. Some are made
of wood. Some are made of rock. Some are made of mud. Some are made of cloth. In cold
places, some houses are made of ice —frozen water! People usually build their houses with
something that is easy to find. For example, there are many trees in the forest. So people who
live there might build a house made of logs. Some houses have one room. Some houses have
many rooms. There is usually a bedroom for sleeping. There is often a kitchen for cooking.
There is usually a bathroom. There is often a living room for sitting and talking. Some houses
have basements. The basement is under the main part of the house. Some houses have attics.
The attic is above the main part of the house. Most houses have a door so people can enter
and exit the house. Most houses have windows so the people can look outside.

Windows also let air into the house from outdoors. Some houses are fancy. They are painted
bright colours and are very decorative. Some houses not fancy — they are plain and simple.
Houses look very different in different parts of the world. But, people who live in a house
probably all agree that there is no place like home!

l. Why are many forest houses made of logs?
A. There are many logs in the forest

B. Trees are easy to find in the forest
C. There is a lot of wood in the forest.
D. All of the above

Il Why do houses have bedrooms?

A. For sleeping B. For cooking

B. For relaxing D. For building things
M. Where is the basement of a house?

A. Beside the house B. Above the house

C. Under the house D. None of the above

V. Houses have doors...

A. So people can enter and exit

B. B. So people can sleep

C. So people can cook and eat

D. D. Both A and B are correct.
V. Houses have windows to...



A. Let people go outside B. Let people look outsideC. Let air into the house from
outdoors D. Both B and C are correct.
2. Suppose you are the principal of L.K Nonia Memorial Primary School. You have
been asked to write a notice about the onset of summer break from 15/05/2024 to
14/06/2024. Frame a notice in not more than 60 words.

3. Answer the following questions :-

a. What did Daddy finally decide what he wanted to be when he grew
up?
Ans

b. What efforts did Daddy put in to be a dog?
Ans

c. Why did the white elephant’s mother advise him not to help the
man in distress?

Ans.

4. Fill in the blanks with correct nouns:-

a. The man is known for his ( honest)
b. A thing of is joy forever ( beautiful)
c. He takes in what he does.( proud)
d. They had a troubled . (child)

e. King Solomon is known for . (wise)
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1. You are Ramesh. Today you had the following conversation with
Rajesh, a friend of your elder brother:

Rajesh : Hello! Is it 991234509?

Ramesh : Yes. I’'m Ramesh speaking. What can I do for you?

Rajesh : Well, Ramesh! I’'m Rajesh, you know your brother’s friend.
Ramesh : Oh, I see. Well, brother is not here now. So can I help you?

Rajesh : Could you please conveiy him that he should bring my practical book today in
school as I need it in class today.

Ramesh : That’s fine. I1l do that.

As you are leaving for your school, write a message for your brother in about 50 words. Put
your message in a box.

2. Fill in the blanks with the appropriate past tense of the verb given in
the brackets. Remember, regular verbs follow a fixed pattern while
irregular verbs do not.



o a0 o

Yesterday, I (walk) to the park.
She  (read) a novel last night.
They ___(dance) at the party.
___(run) in a marathon last week.
We  (go) to the cinema yesterday.
3 Your school celebrated Rabindra Jayanti on 8§ May, 2024. You
participated in the cultural programme organized by your school.
Write a diary entry about the preparation and final programme.

4. Make a Web chart on the characteristics of “Daddy”
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SUBJECT: MATHEMATICS CLASS: VI
Name Roll No: Section:

A. Multiple Choice Questions:
1. Which of the following is not a natural number?

a) 7+9-8 b) 2x5 — 5%x2 c)15+20+2 d) 7x6 + 2
2. The value of (2065 x 129 — 2065 x 20 — 2065 x 9) is

a) 20650 b)2065000  ¢)206500 d)2065
3. The estimated value of 36 + 71 — 55.

a) 40 b)50 )70 d)60
4. Predecessor of natural number 1

a) 0 b)2 c) 10 d) Does not exit

5. Assertion (A) — 87 is the successor of 81.
Reason (R) — any natural number, you can add 1 to that number and get the next number i.e. you get
its successor.
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is not the correct explanation of A.
c) Ais true but R is false.
d) A is false but R is true.
B. Short Answer Type Questions:
6. Add the numbers by re-arranging by using property:
7326 + 139 + 674 + 861

7. Find the least number that should be added to smallest 4-digit number so 35 divides the sum exactly.



C. Long Answer Type Question:

8. A student multiplied 8245 by 35 instead of 32. By how much was his answer greater than the correct
answer?

9. The greatest four digits number made with the digits 1,0,9,2 is divided by the smallest 3- digits
number made with 1,9,2. Find the quotient and the remainder.

D. Case Study Based Questions:

10. Two friends Rohit and Ankit enrolled for a talent search exam. In the examination the Rohit’s roll
number was 2133, his friend Ankit’s roll number was next to Rohit.

(1) What is Rohit’s roll number in Roman number system?

(a) MMCXXIII (b) MMCXXXII (c) MCMXXIII (d) MMCXXXIII
(i1) What is Ankit’s roll number?

(a) 2132 (b) 2130 (c) 2134 (d) 2135

(111)What is Ankit’s roll number in Roman number system?

(a) MMCXXXIV (b) MMCXXVI (c) MCMXXIV (d) MMCXXXVI

(iv)If Arun’s roll number is before Rohit, what is Arun’s roll number?

(a) 2132 (b) 2130 (c) 2134 (d) 2135
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A. Multiple Choice Questions:

1. A composite number has factors.
a) one b) two ¢) more than two d) none of these
2. A number is divisible by 5 if the digit at ones place is
a) lor3 b)0Oor5 c)lor2 d)4or8
3. Two prime numbers whose difference is 2 are called.
a) co-prime b) twin prime c) even number d) none of these
4. A number is divisible by 6 if it is divisible by factors of six.
a) prime b) co-prime  ¢) composite d) even

5. Assertion (A) — The factors of 34 are 1, 2, 17 and 34 itself.
Reason (R) — every factor is less than or equal to the given number.
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is not the correct explanation of A.
c) Ais true but R is false.
d) A is false but R is true.

B. Short Answer Type Questions:

6. Write down the last four 2-digit multiples of 12.

7. By what smallest digit the * will be replaced to make 2346*1 divisible by 9?

C. Long Answer Type Question:
8. If'the ratio of two numbers is 4:5 and their HCF is 4, then find their LCM.



9. How many numbers less than 20 can be written as the sum of two prime numbers?

11. The department of Computer Science and Technology is conducting an International Seminar. In the
seminar, the number of participants in Mathematics, Science and Computer Science are 60, 84 and
108 respectively. The coordinator has made the arrangement such that in each room, the same
number of participants are to be seated and all of them being in the same subject. Also, they allotted
the separate room for all the official other than participants.

(1) Find the total number of participants.

(a) 60 (b) 84 (c) 108 (d) none of these
(i1)Find the LCM of 60, 84 and 108.

(a) 12 (b) 504 (c) 544320  (d) 3780
(ii1)Find the HCF of 60, 84 and 108.

(a) 12 (b) 60 (c) 84 (d) 108

(iv)Find the minimum number of rooms required, if in each room, the same number of participants are
to be seated and all of them being in the same subject.

(a) 12 (b) 20 (c) 21 (d) none of these



D.AV.MODEL SCHOOL, KSTP, ASANSOL

HOLIDAY HOMEWORK
SESSION 2024-2025

Class: VI Subject:SCIENCE

Q.No.

QUESTION

1.

10.

Choose the correctoption
Choose the odd one out
a.peas b. Grams c. pulses d. cottage cheese
Some food items are listed below
i.honey ii. Milk iii. Spinach iv. Salt
which of these are good sources of vitamins
a.iandiii b.iiandiii c.iandiv d.iiandiv
Deficiency of which vitamin causes sterility
avitamin A b. Vitamin D c. Vitamin C d.Vitamin K
Name of a secondary consumer is
a.Frog b.Mosquito c.cattle d. fodder
Decomposers include
a.bacteria only b. fungi only
c.bacteria as well as fungi  d. scavengers
Which of the following nutrients is not present in eggs
a.protein b.vitaminb  c. Fibre d. bothaandc
Roughage is important for which activity?
a.proper absorption of nutrients
b.bowel movement
c.optimal gut health
d.all of these
Instruction for questions 8 to 10, Read the two statemens carefully and choose the
correct option
Assertion(A): One should consume milk daiy
Reason(R):Milk is a rich source of vitamin C
a.BothAand R Are true, but R is not the correct explanation of A
b.Both A and R are true and r is the correct explainaton of A
c.Aistrue, but R is false
d. Alis false, R is true
Assertion(A):Do not peel fruits before consumption
Reason(R): Fruit peels provide dietary fibres.
a.Both A are R true, but R is not the correct explanation of A
b.Both A are R true, and R is the correct explanation of A
c. Alis true,but R is false
d. A is false, but R is true
Assertion(A): The mineral cycle is the cycling of material through biotic and abiotic
components
Reason(R): Decomposers are a part of mineral cycle that help to break down the dead
bodies of producers and composers.
a.both A and R are true, and R is the correct explanation of A
b.both A and R are true, but R is notthe correct explanation of A
c. Alis true, but R is false
d. A'is false, but R is true
INSTRUCTIONS for question 11 tol5, write the answer in 20-30 words




11.

12.

13.

14.

15.

16.

What kind of diet would you recommend to someone whose teeth and bones are prone to
breaking easily?

A patient came to visit to doctor with symptoms like skin and hair discolouration and a
lot of facial swelling. Can you identify which nutrient deficiency causes these symptoms?

How does decomposition of dead animals turn out to be useful?

Write the meaning of the term vercomposting.

People who eat seafood are less likely to suffer from goiter. Why?

What do understand by the term ‘balanced diet’? Write the components of a balanced of
a balanced diet. Name the disease cause due to deficiency of lodine.




17.

18.

19.

Which disease are caused due to deficiency of water and dietary fibres? Explain and also
write their preventive measure.

Define primary consumer and secondary consumer. Give two examples of each type of
consumer. Define mineral cycle.

Carbohydrates mainly provide energy tour body. Fats also give us energy. In fact, fats
give much energy as compared to the same amount of carbohydrates. Foods containing
fats and carbohydrates are called energy giving foods.

1.Which of the following is not a plant source of fats?

a.ground nuts

b.milk

c.coconut oil

d.til

2. Describe one test for detecting the presence of protein

3.Write some sources of minerals(iron,phosphorous,iodine)

3




20.

Draw a diagram that shows the relationship between the biotic and the abiotic
components of the environment.
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DAV MODEL SCHOOL, KSTP
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I. Tick the correct option

1.

10.

11.

Environment should be kept
a. Beautiful and Bright () b. Dry and Wet ( )

b. Cleanand Green ( ) d. Hotand Cold ( )

Which of the following is harvesting festival?

a. Baisakhi ( ) b.Diwali ( )c.Holi( )d.Eid( )

The directive principles of state Policy are helpful in achieving our national goals like

a. Secularism () b. Economic justice ( ) c. Population control ( ) d. Education for
all ()

Who wrote Abhigyan Shakuntalam?

a. Kalidas ( ) b. Tulsidas ( ) c. Mahatma Buddha ( ) d. Kautilya ( )

Jain literature was written in language.

a. Pali( )b.Prakrit () c. Sanskrit ( ) d. Hindi ()

Which of the following is the hottest planet?

a. Mars( )b.Venus( )c.Jupiter ( )d. Neptune ( )

Which of the following planet has 2 satellites?

a. Mars( )b.Venus( )c.Earth( )d. Neptune( )

The smallest unit of a community is

a. avillage ( ) b.afamily ( ) c.aschool ( )d. achlld( )

Jupiter has number of satellites.

a. One( )b.Five( )c. fifty-three ( )d. Two ( )

The Chinese traveller who visited India was

a. Columbus ( ) b. Meghasthenes ( ) c. Fa-Hien ( ) d. Alexender( )

4 Which is the most distance planet from the sun?
Uranus () b. Jupiter ( ) c. Saturn () d. Neptune ( )

I1. write the answers of the following questions in brief.

1. What is Universe?




2. Explain the role of school in development.

3. Write the role of literary sources of Indian History?

I11. Fill in the blanks

1. The heavenly bodies that revolve around their respective planets are called

2. The study of coins is called
3. Many villages and cities together form a
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Tick the correct option
1. The period when the art of writing was unknown is known as
a. History () b. Medieval History ( ) c. Prehistory ( ) d. ancient hlstory( )
2. Prose, Poetry, Plays etc. are part of literature.
a. Secular () b. Non-Religious ( ) Religious ( ) Historical ( )
3. The planet that does not have any satellites is
a. Jupiter ( ) b. Mars () c. Mercury () d. Neptune ( )
4. After Independence India has made tremendous progress in the field of?
a. Agriculture ( ) b. Industry ( ) c. power generation ( ) d. all of these ( )

Il.  Answer the following questions.
1. With the help of the diagram give a brief description on the phases of Moon.

N = S a T =
( ) ( ) ( (f ) ( ) ( ) ) ( ) ((
B I — il =l | = _ e st —
E & C i ‘ f g 1 i
New Moon Full Moon New Moon

Various phases of Moon

Phases of Moon Diagran

2. How does the study of coins help historians?




3. State the differences between Rural and Urban community.

V. Map Skills
On the political map of India locate and label the following places.

a. Place where Red Fort is situated.
b. One of the archeological sites
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